















$$Q_{2} = (y_{3} - y_{1}) = (10 - 7.5) = 2.5$$

$$Q_{3} = (y_{1} - y_{2}) = (7.5 - 5) = 2.5$$

$$T_{1} = (x_{3} - x_{2}) = (15 - 15) = 0$$

$$T_{2} = (x_{1} - x_{3}) = (10 - 15) = -5$$

$$T_{3} = (x_{2} - x_{1}) = (15 - 10) = +5$$

$$T_{3} = (x_{2} - x_{1}) = (15 - 10) = +5$$

$$T_{4} = (x_{1} - x_{2}) = (15 - 10) = +5$$

$$T_{5} = (x_{1} - x_{2}) = (15 - 10) = +5$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{1} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{1}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x_{2})$$

$$T_{5} = (x_{1} - x_{2}) = (x_{2} - x$$





[93[8] =
$$56x10^3$$

= $5.6x10^3$

= $2.6x10^3$

= $2.6x10$





Then
$$\frac{1}{2}$$
 $\frac{1}{2}$ $\frac{1}{2}$